



名前: _____

日にち: _____ スコア: _____

$$(3 - \frac{2}{5})^2 + \frac{2}{3} + \frac{1}{4} - 3^2 =$$

$$(5 - \frac{2}{3})^2 + \frac{3}{5} + 2^2 \times \frac{1}{2} =$$

$$((\frac{1}{5})^2 + \frac{1}{2}) \times \frac{3}{4} - (\frac{3}{5} + \frac{1}{3})^2 =$$

$$((\frac{2}{3})^2 - \frac{1}{5}) \times \frac{1}{5} - (\frac{3}{2} - \frac{1}{3})^2 =$$

$$(2 + \frac{3}{5})^2 - \frac{3}{2} - \frac{1}{5} - 2^2 =$$

$$(5 + \frac{1}{4})^2 + \frac{1}{2} \times 5^2 - \frac{1}{3} =$$

$$(2 + \frac{2}{3})^2 + \frac{3}{4} \times \frac{2}{5} + 4^2 =$$

$$(5 - \frac{2}{5})^2 + \frac{1}{2} \times \frac{1}{6} + 2^2 =$$

$$(2 - \frac{1}{4})^2 - \frac{2}{3} \times 4^2 \times \frac{2}{3} =$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{2}{5}(\frac{2}{5} + (\frac{1}{2})^2) =$$



名前: _____

日にち: _____ スコア: _____

$$(3 - \frac{2}{5})^2 + \frac{2}{3} + \frac{1}{4} - 3^2 = (-\frac{397}{300}) = (-1\frac{97}{300}) \quad (5 - \frac{2}{3})^2 + \frac{3}{5} + 2^2 \times \frac{1}{2} = \frac{962}{45} = 21\frac{17}{45}$$

$$((\frac{1}{5})^2 + \frac{1}{2}) \times \frac{3}{4} - (\frac{3}{5} + \frac{1}{3})^2 = (-\frac{839}{1800}) \quad ((\frac{2}{3})^2 - \frac{1}{5}) \times \frac{1}{5} - (\frac{3}{2} - \frac{1}{3})^2 = (-\frac{1181}{900}) = (-1\frac{281}{900})$$

$$(2 + \frac{3}{5})^2 - \frac{3}{2} - \frac{1}{5} - 2^2 = \frac{53}{50} = 1\frac{3}{50} \quad (5 + \frac{1}{4})^2 + \frac{1}{2} \times 5^2 - \frac{1}{3} = \frac{1907}{48} = 39\frac{35}{48}$$

$$(2 + \frac{2}{3})^2 + \frac{3}{4} \times \frac{2}{5} + 4^2 = \frac{2107}{90} = 23\frac{37}{90} \quad (5 - \frac{2}{5})^2 + \frac{1}{2} \times \frac{1}{6} + 2^2 = \frac{7573}{300} = 25\frac{73}{300}$$

$$(2 - \frac{1}{4})^2 - \frac{2}{3} \times 4^2 \times \frac{2}{3} = (-\frac{583}{144}) = (-4\frac{7}{144}) \quad (\frac{1}{2} + \frac{1}{2})^2 - \frac{2}{5}(\frac{2}{5} + (\frac{1}{2})^2) = \frac{37}{50}$$